RDMOTO CZECH REPUBLIC
info@rdmoto.eu
www.rdmoto.eu

CS16KD

BMW FO900XR 2019-
Mounting kit:

ID. Description Cat. No. Pcs.
1 Steel adapter for spring — right side X160 1
2 Steel adapter — left side X147 1
3 Bolt M10x12mm 1069 4
4 Washer M10 804 6
5 Steel insert (I=11mm) 242 2
6 Spring (large) for mounting stands X57 1
7 Spring (small) for mounting stands X93 1
8 Bolt M10x25mm 1066 2
9 Bolt M8x20mm 823 2
10 Sticker - 1

Warning:

We recommend using medium strength (blue) thread glue during
assembly.

Installation :

1. Mount the ID.1 adapter on the right side with ID.9 screws. M8 threads are
prepared in the motorcycle frame.

2. Release the footrest holder on the left side and slide the ID.2 adapter under
it. Tighten the footrest holder again.

3. Mount the ID.3 screws in both adapters, they will serve as stops for the
stands. Mount from the inside of the adapters.

4. Take the stand, insert the steel inserts ID.5 into it and mount the stand in
the adapters with the screws ID.8.

5. Prepare the spring assembly and stretch it over the studs of the stand and
adapter on the right side.




RDMOTO CZECH REPUBLIC
info@rdmoto.eu
www.rdmoto.eu

2x bolts ID.9
(M8x20mm) — inside
the adapter

2x bolts ID.3 (M10x12mm)
+ washer M10 ID .4

Bolt ID.8 (M10x25mm) +
insert ID.5

2x bolts ID.3 (M10x12mm)
+ washer M10 ID.4

Bolt ID.8 (M10x25mm) +
insert ID.5




